DA Gauge
( DISAPPEARING GAUGE ) E

e N i i
PKRGM H Weight Catalog No. Cylinder Stroke
140 (kg) S
25 100 340 6.7 100
= s 390 | 71 jlitcld 150
2-M10 7
o) ) /{2{ Q Order \ Catalog No. H S \
10| PKRGM 150
_ &l J::H
‘i i 2ot Wéﬁ&ﬁ"“‘ AR HMFor Operation
8 ¢ —Hd =D 3 I 8
LT \& | 8l - (1) When a blank sheet is placed (2) Before stampin
IS ié——‘ﬂm%‘ " P Png

Yl

|

L

Rear gauge head return end

/Q (mounted by customer)

K M20XP2.5

30 65 2-#1078%" ie /
ﬁ@

=
Blank|Holder

o ﬂ 24 | 40 | = "
— I ) .
‘ D = + ; _®
T - B Punch
o ‘\: — | I s
8 ‘ ‘ \ Lﬁ o @
f (4] L — o I
to) [ [
o :} I s | | | |
‘: — I T a
n | | T — 9
o) : ‘ T ‘ ! N [ [ ]
2 { ‘ bl 0 3
@ o ‘ ‘ i ‘ ‘ % m This is compatible with the mounting position of old standard part PKRG.
32 il ‘ b However, the elbow mounting position was changed.
HTable of Components = ‘ ‘ ‘ : ‘ ‘ o 4
[§) i
No. Discription |Qty| Material and Remark g J i ‘ ‘ i S
(D |Base Plate 1 /SS400 3 L ‘ ‘ ‘
@|Guide Post 1 [STKM * ! ‘ |
- |
(3 |Bushing Holder | 1 |SS400 @0 ‘
@ |Qilless Bushing 2 |Bronze (SO-2) with Graphine
®|Air Cylinder 1 |D-MCY-RF-40 by Taiyo 4 ‘
®|collar 1 |STKM ‘ \@ BO®
@ |Flat Washer 2 |For M20 —0)
U Nut 1 |SCM435 M20 #30 3
Hexagon Socket Head Bolt| 4 |SCM435 M10X 25 448.6
@ |Elbow 2 |10R-02ML by Chiyoda
(2 |Soring Washer 4 |For M10
@3 |Cotter pin 1]$5%X40
\_ J
261 262

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.





